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Lord of the Rings must be the prime
example of an adveniure nsing

_interactive characters. Anything you can
do, they can do, and possibly better. |

b

‘“-I!" e e B
fp e 1S B

18 REM Helcome to the Hotel Horrabelle!
28 REM

38 REM Initialise

48 REM

58 GOSUB 1278

1] FEIHT ‘Helcome to the Hotel Horrabell
2 aus

78 PRINT *The guests include Margaret Th
atcher, Godzilla, Hamlet, and others®
BE FREINT "Please wail while I call then
from their roms,.."

79 DI r$(4) ,r(4,4) bSC1R) bULIED ,c808)
(6, 11}, 147,35,4) ,d(50)

[88 DIM s%(4)

[16 DEF FNs$(4%,q%, h8)=CHRS(34) +hS4CHRS(
J4)+% gaye "+{44° to “igé

128 DEF FHgh(f$,g8)=CHRS{34) +gs+CHRE(24)
+* says "+f§

138 REM read in data

148 FOR n=1 TO 4: READ r${n): FOR m=1 TO
4: READ rln,nd: NEXT m: NEXT n

158 FOR n=1 TO 18: READ bS{n} ,bin): NEXT

]

168 FOR n=1 TD 6: READ c¥%n}: FOR n=l TD
11: READ cin,md : HEXT n: NEXT n

178 FOR a=] TO &: READ =$(n): NEXT n

18f SE4 t~es one

198 FOR n=1 TO 13: FOR n=! TO 4: READ &(
1,n,md: NEXT m: hEXT n

298 AEM tree number two - object manipul
ation

218 FOR n=1 TO 27: FOR a=1 TD 4: READ t(
2,n,m ¢ NEXT m: NEXT n

228 REM tree nmber three = coswersalion

230 FOR m=1 TO 35: FOR n=1 TO 4: READ t(

3,nmd: NEXT n: NEXT n

248 REM tree number four - love

238 FOR n=1 TO 21; FOR ==1 TO 4: READ t(
4,n,n} : NEXT m: HEXT n

268 REM tree nmaber five - actions

278 FOR n=1 TO 31: FOR m=1 TO 4: READ t{
ayn,nd s HEXT m: NEXT n

288 REM

278 REM main loop

388 REM

318 a=1

378 GOSUE 1248: REM clear the screen

338 GOSUB 4%8: REM print locatica

348 GOSUE 518: REM print objects

358 GOSUB 498: REM print characters

348 GOSUB 458: REM check for keypress
378 IF p=8 BOTO 398: REM no keypress so
carry on

388 a=p: GOSUB 1338: GOTO 338: REM chang
g player location

378 GOSUB 2448: REH call the character h
andler

488 BOTD 348: REM carry on

418 REM

428 REH high lwel subroutines

430 REM

448 REH input

438 19=INKEYS: TF 19="" THEN p=8: RETURN
448 1F (ASCCi%) (4% OR CASCOis) )32 THENM
p=8: RETURN

478 peASC(18)-4B: RETURM

488 REM print location description

498 PRINT r${a): GOSUB 1358: RETURN

88 REM print visible objects

518 n=R

328 FOR n=1 TO 18

338 IF bin){da THEN BOTO 564

B IF n=8 THEN PRINT “Yow can see: a *;
Efind ;s a=l: GOTD S48

aa8 PRINT *, a *;b%in);

548 NEXT n

378 IF n=8 THEN RETURN

388 GOSLE [1358: RETURM

598 KM print wisible characters

488 m=R: FOR n=1 TO &

618 1F cin, D3 {xa THEN GOTO dd@

428 IF n=8 THEN PRINT "Also presemt: "jc

$(ndy: n=0: GOTO 448

430 PRINT *, ";c8(n);

dd8 NEXT n

458 IF n=@ THEM FRINT *There‘s no-one he
s

648 GOGUB |358: RETURN

478 REN move a character

688 y=B:r=5: GOSUB 1338: IF rlcic,d,r)=
§ THEM GOTO 4EN

678 IF clc,12=a THEN nf=c8(c)+" Jeaves t
he room...": 1=1: GOSUB 758: y=1

Ml cic,ly=ricic, ) ,r)

718 1F cic,1)=a THEN mS$=c${c}+" enters t
e room...": 1=1: GOSUB 758: vw=|

728 IF y=1 THEN GOSUB &89

730 RETURN

748 REM print a message if player presen
i

798 IF cic,10<{ka THEN m$="": RETURN

748 PRINT md:: IF 1=] THEN GOSUB 1358
778 1=8: m$="": RETURN

788 REM select a random character from 3
location

758 =8: n=h

BEB FOR n=1 TO &

g18 IF n=c THEN GOTO E34

828 IF clm, 13 Chcioy 1} THEN BOTO £58

B38 r=4: GOSUB 1338: IF r=3 THEN x=n: =
4

B4E n=l

§58 NEXT n: IF n=8 THEN RETURN

848 IF x=8 THEN GOTO B8a

878 RETURN

BE@ KEN select 2 random object from 2 lo
cation

98 b=b: o=t

¥4 FOR n=1 TO 1B

218 IF bi{nd{defc, 1} THEN EOTO 748

§28 r=3: GDSUB 1338: IF r=4 THEN ben: o=
18

538 n=1

S48 NEXT n: IF m=0 THEN RETURN

958 IF b=f THEM GOTO %88

R&8 RETURN

978 REM check if object oumer present
988 x=8: p=B: IF (clc, =0 OR (clc,2)36
J THEN RETIN

998 IF clcic, 2, D=cic,} THEN p=1: x=c{
.2

[BER RETURN

1610 REM check i1f owned object present
1828 p=8; IF bicd=cic,l} THEN p=7: RETUR
H

1838 FOR n=1T0 &

[848 IF (ein,2)=c) AND (cin,D=cic, )} T
HEN pec: n=é

|858 NEXT n: RETURM

1848 REM sort a tree

1878 j=1

1888 ON tit,j,01) GOTO 185@,1118,1158,118
i, 1218

1898 j=tit, ], (ABSCALCt i, B0043)) 2 IF
=B THEN RETURN

1 i@@ GOTO 1988

1118 1F ttt,3,2)=8 THEN GOTO 1034

1128 GOTO 1448

| feontinued on _next page)
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1138 1F #(t,j,4)=B THEN RETURM

1140 n¥=n$(t(t,;,4)) 2 1=1; GOSUB 1418: R
ETURN

1158 IF tit,j,2)=8 THEN &OTD 1178

1148 j=t{t, ], 4)HABS(d(t(t, ], 201 GOTO |
L1

1178 r=t(t,j, 30 GOSUB 1338: jerét(t,j 4
y: GOTD lea@

1188 IF t{t,j,2»=8 THEN 60TO 1288

1198 GOSUB 2348: GOTO [@88

1280 né=nd(t(1,], 972 1=1: GOSUB 1418: j
=t{t,j,3: GOTO laek

1218 r=1(t,j,3}: GOSUB 1338: IF r=] THEN
j=tit,j, 4 : GOTO 198

|Z28 RETURN

1238 REM
01248 REM low level subrowtines

1258 REM

1268 REM clear screen

1278 CL5: RETURM

1288 REM Deep

[298 PRINT CHRSC?);: RETURN

388 REM fest for 2 keypress

1318 i3=INEEYS: RETURN

1328 REM gererate 2 variable randm nunb
er

1338 r=INT{RMDCD)Er): RETURN

1348 REM print a blank line

1358 PRINT: PRINT: RETU®N

1340 RPN convert first letter of word to
caps

1378 1F ASCILEFTS{pd, 1)) {97 OR ASC(LEFTS
(p%, 1222123 THEN cops=4175: GOTO 3856
1388 a$=LEFTS{ps, 1) : bS=RIGHTS(pS LEN{pSs
y=10: a9=CHRE(ASC(a%)-32)

1399 pi=asibd: RETURN

1488 REM print a nessage regardless

1418 PRINT m$: IF i=] THEN GOSUB 1358
1428 1=8: m$="": RETURN

1438 REM

1448 REY action jumpblock

1438 REM

1448 0N tit,j, 2 GOTD 1588,1538,1548,155
B, 1548, 1580, 1408, 1510, 1648, 15640

1478 N (H0%,,20-100 GOTO 1486,14%8, 171
B, 1738, (740, 1748, 1779 1798, 1818

1488 N (tit,j,2-1%) GOTO 1838, 1858, 187
8, 1518, 1930, 1948, 1548, 1598, 2018

1498 ON (t(t,i,2-18) GOTO 2038,2858,247
B,2878,2118,2158,2178,2238 2258, 2278
1588 cic,1=clc, 1032 IF cic,7)=8 BOTO |
328

1518 md=c8{c)+" loses inferest in the co
meersation and walks of4.": GOSUB 750
1528 clc,N=B8: clc,By=B: clc,80=B: GOSUB
588 : RETURN

1538 t=2: RETURN

{548 cic,?)=8: cic,Bi=R: clc,8)=B: t=2:
RETURN

1558 r=5: GOSUB 1338: t=r+3: RETURN

1548 GOSUE B78: IF b=@ THEN RETURN

1578 cic,2=b: bib)=8: mi=cd(c}+" picks
up 2 "#b(bd: 1=1: GOSUB 738: RETURN
1588 md="1 think this is your "tb8{cic,2
¥

1558 né=FNs$(chlc) ,chlclc,2)) o)t 1=l
GOSUB 758: RETURN

1688 m$=c8(c)+" is carrying a "tbdiclc,2
Y3: 1=1: GOSUB 758: RETURN

1618 n$=c${c)+" drops a “+bicic, 203z b
clc, M =cic, 1)

1628 cic,2r=8: 1=1: BOSUE 734

1438 RETURH

1648 md=ci{c)+" has got the “+bs(cic, 21)
+" beloaging to "+c8{x): 1=1

1438 BOSUE 758: RETURNM

1688 cix,D=ci{c,2: clc,2)=8: af=cic)+"

gives the "+id{c(x 2))+" to “+c8ix)
1670 1=1: GOSUB 758: RETURM

1688 n¥=c#{c)+" is arguing with "+csiclc
gB31 1=1: BOSUB 754: RETURN

1890 n8$=c${c)+" is uinning an irgunent w
1th "+cdiclc,i}): 1=1: GOSUE 738

|78 RETURM

1718 m8=" seas "+cdix)+" talking to "#c§

{clx, 54" and fumes with jealousy’

1728 mf=c¥ichnd: 1=1: G05SUB 738: RETURN
1738 nd=c¥ic)4" tries to inierrupt “#c¥(
x): 1=1: GOSUE 758: RETURN

1748 mi=c$ic)+" gazes lovingly into “#c$

(x)4"'s pyes...": 1=1: GOSUB 758

1758 RETURN

|748 mi="Love blossoms between “+cdic)+"
and "#cSix): I=1: GOSUB 75&: RETURM
1778 nd=FNst(csic) ,c8(x) "Why don’t you
1alE about “+s8{ci)

[788 T=1: GOSUE 73@: RETURM

1798 md=FNss(csic) ,ch(x),"Youre talking
nansense")

1668 1=1: GOSUB 738: RETURN

IB18 me=FNcS{c8(c) ,c80x) ,"Ridiculous, ba
t I agree entirely®)

1628 1=1: GOSUB 758: RETURM

1836 me=FNs#{cic) ,c4(x),"] think "+s$ic
¥+ 15 more inportant®}

[848 1=1: BGOSUE 758: RETURM

1858 n¥=c¥{c)+" triec to join in the dis
cussion between "#c3ix)

1848 nd—nd+" and “4c8{cix,3): I=1: GOSU
B 738: RETURN

1878 md=cdich+" talks to "¢cS(x)+" about
"+e8iclc 800 1=1: GOSUB 758

1888 IF cic,8y=c THEN GOTO 1788

16%8 mi=ciici+" hipwever, does not appear
to be enjoying the conversation®

1788 1=1: GOSUE 758: RETURM

[#18 m¥="A brisk discussion begins betwe
e "tchlci+” and "4c¥ix)

192 ni=nd+" on the subieci of “+s¥{cic,
813 1=1: GOSUE 758: WETURM

1930 nd=cH{c)+" and "#cS{x)+* talk about
“+54{clc, 8}z 1=1: GOSUB 758: RETURN
[948 md=cd{c)+" desperately tries to att
ract the attention of "+c8(x)

{758 n¥=nd+" by indelging in snall talk®
¢ 1=1: GOSUB 758: RETURM

1948 1F cix,9)=c THEN RETURN

1978 m$="1 think there’s something going
on between "+c$ix)¢" and "

1768 nS=ndtcs{clx, 7)) nd=Pigiicsic) nb)
t 1=1: BOSUB 758: RETURN

1758 nd=c¥{c(x, 7)) : nd=FNsH(cH(c) o),
*I don“t know what you see in “+n¥)

2888 1=I: GOSUR 758: RETURN

2010 mi=c8{x)+"'s affection for "+cb{cly
71} +* dampens the ardour of *+fc¥lc)
2878 1=1: BOSUB 758: cic,9r=8: RETURN
2038 pi=c$ic)+" iz suddenly overcome wit

h Tove for "4#c80x): |=]: GOSUB 758

2848 clc,P=x: RETURN

2858 mé=c$(cic,?) : me=RNgsict(c) ,"Hhere
15 ny beloved *in$)

2848 1=1: GOSUB 758: RETURN

2878 mi=c${c)+" goes down before "+c8(c(

c,3+* ind pleads everlasting love...*
Z8E8 1=1: 6OSUB 758: RETURN

2878 ad="Absence cools the passion of "+
c$(ca+" for “4c8Mclc, ™

2188 1=1: GOS0B 738: clc #)=@: RETURN
Z110 mi=c#{c)+" suddenly jwmps upoa “+c%

(x)+" and sinks his teeth inmto ®

2128 IF (=20 OR (x=4) THEN nd=n$+"her *

: GOTD 2148

2130 nd=nd+"his *

2148 nd=n8+"neck™: 1=1: GOSUB 758: cix,4

Y=cix,4)=1: RETURN

2150 mi=Mgsics(c) ,"Alas, poor Yorick...

"¥1 nd=md4”  holding wp ihe skwil®

2148 1=1: GOSUR 758: RETURM

2170 mé=cSic)+", thinking she 15 back ho

me, threatens everyoae with exile®

2188 ni=a$4* fo Siberia.": I=l: BOSUE 75

B: n¥="The roon enpiies rapidly..."

21%8 1=1: GOSUB 75&

2200 FOR n=1 TO &: IF n=3 THEW BOTD 2228

2218 cin, 0)=4

2220 NEXT n; RETURN

2738 mi=c8(0)4" suayed by the logic of &

he Iron Lady, agrees to buy."

2248 1=1: GOSUB T38: tlx,2i=clc, D1 clr,
Zi=8: RETURN

2250 ns=FNg¥ics(c) ,*This hat 1s ay proud
est possession’®): 1=1: GOSUB 738

2248 RETURN

2370 mi=FNgd{c${c) "Urk...Grurk...Banana
1%y e 1=1: GXSUB 798: RETURN

72B8 m¥=c#(C)+" collapses from loss of b
lood.": 1=1 GOSUB 758

2298 m3="The hotel staff rush in amd ren
ove the body...': 1=1: GOSUB 738

2388 cS{c)=" the body of *+cic: clc,Dd
=81 RETURN

2318 RN

2328 REN procedure juspblock

2338 RE

2348 DN t0t,),2) GOTO Z2348,23M8,23%8 242
B,2449 2448 ,2478 2468 , 2588 , 2538

2308 0N (i(t,j,2)-18) GOTO 2558 ,2578 859
v, 2008

2348 clc, IM=cic, l02-1: j=&: RETURN
2378 clc, M=clc,M-1: IF clc,”'=k THIN G
OsUB 1218

2388 =131 RETURN

2398 IF cic,7)=0 THEN GOTO 2418

2488 nd=c3(c)+" is discussing "t+s#{cic,B
1)4* with *+c8(c,60: 1=1: GOSUB 738
218 j=11: RETIRN

2478 GOSUR %88: [F p=@ THEN j=9%: RETURM
2438 j=18: RETURN

2648 IF clx,20=8 THEN j=24: RETURN

2458 j=24: RETURN

2488 cfc,=(clc,D-1) MOD 5: j=94: RETUR
N

2478 clc, D=lclc, 41} MOD 5: j=7: RETLR
H

2468 GOSUB 798: IF x=8 THEN j=18: RETURM
24%8 GOSUB 2748: j=11: RETURN

2508 cic,2=x: clx,B=c: r=3: GOSLE 1338
i cleyM=rels ol Pl=rel

2518 1F d(11) THEM clc,B¥=c: cix,Bh=c: j
=171 RETURN

2008 clc,Bh=x: clx,8)=x: j=2¥: RETURM
7538 GOSUS 798: IF x=8 THEN j=21: RETURN
2540 BOSUB 2748: j=3: RETURN

2558 GOSUB 798: IF p= THEM j=B: RETIRN
2588 j=%; GOSUB Z74d: RETURN

2578 GOSUB 778 IF p=B THEN j=]4: RETURN
Z580 j=15: GOSUB Z748: RETURN

2598 GOSUB 798: IF p=8 THEN j=1¥: RETURN
2688 j=21: GOSUR 2748: RETURN

2618 mi=c¥ic)+", in order to terther pri
vatisation, tries to sell *

2428 ni=ms+* the "+bd{cic,2))+" to "+c8ix
Y1 1=1: GOSUB 738: RETURN

2438 REM

2448 REN character handler

2498 REN

2648 FOR c=1 TO &: REM process each char
acter

2478 IF cic,4)=0 THEN GOSUB 2228

2408 t=1: BEM start with tree one

2498 BOSUE 2748: z=1: GOSUB [878: IF 1=t
THEN GOTD 2738: RiW endit no iranster
2708 1F t{& THEN GOTO 2728

2718 GOTO 2734

Z7H BOSUE 274B: BOTD 2498: REM lraverse
next tree

2738 REXT ¢

2740 RETURN

2798 REM conditions

TR dlD=lele, =) s di2=(cl{c,i=h): d
(F=lclc, 10)=8): did)=(cic, N 3R)

2778 diSmicie, D=l didd=1: d{P=(cic,
2i=gh: dlBh=(gic,Bo=c)

2708 di¥i=iclx, =) AD (clx, M (3ch: di
IB=(cic,Fr=x s dli=(cic, D Iclx,4))
2798 d{1D=Ccly, M=)y diI1=(clc, N=A):
dil¥={cix,9=4]

2800 dl1S=(clclx, D, Dol 1)y diig=s
clole, 7, =cie 1

618 diiTi=c-1: dll@)=(cix,2)=0)

2620 RETURM

2638 REM

2848 REN data

7838 REN

2648 REM location descriptions

2878 DATA "The Lobby. Buests crowd round
the reception desk...”,B,4,2,8

PEA8 DATA "The Restaurant. There are 2
nonber of eapty tables...”,1,3,8,8

2878 DATA *The Bar...propped up by numer
ous travelling salesman.® 4,8,8,2

2908 DATA "The Reading Poom. Newspapers
everywhere and @ haze of tobacco smoke'
2918 aTA B,8,3,1

2928 REM object descriptions

2038 DATA "coffin® B, "skull” B, " seord® @
,"dole cheque' 8, couboy hat”,d

2%48 DATA "banana”,B,"carving Enife",3,"
bloody Mary"® 4

2958 DATA "bottle of Bull’s Blood®,4,"pi
nt of bitter® 4

2348 REM character descriptions

2578 DATA "Count Dracela®,l,1,5,5,8,8,8,

B,8,08,18

2788 DATA "Hamlet Prince of Demmark",4,2
y3,3,8,0,8,08,8,4,15

2998 DaTA "Catherine the Great®,4,3,35,35,

B,8,0,0,8,5,14

3888 DATA "Margaret Thatcher®,1,4,5,5,8,
B,8,8,8,8,19

3818 D4TA "Ronald Reagan®,2,5,3,5,8,8,8,
B,0,12,15

308 DATA "Godzilla®,3,6,3,5,08,0,8,8,8,2
B8

3838 DATA "leeches®,'the meaning of life
! "Russian history®

3848 DATA *politics®,"couboys®,“grape pi
cking"

3858 GOSUB 1298: PRINT *Error in line *;
oops: STOP

3848 REM tree number one

3078 DATA 1,1,2,8,1,2,3,8,1,3,5,4,2,1,8,
B,4,1,8,8,1,4,12,7,4,2,8,8

38ER DATA 2,2,8,B,2,2,0,08,4,3,8,8,2,2,8,
#,2,3,6,8,3,8,2,8

3898 REM obiect tree data

3188 DATA 3,8,2,2,2,4,8,8,1,5,7,5,1,8,8,
8,3,8,3,6,2,5,8,8,1,7,8,15

3108 DATA 4,4,8,8,5,8,3,13,3,8,4,11,1,8,
8,0,2,4,8,8,3,8,2,22,3,8,3,1%

2128 DaTa 5,8,2,16,3,0,2,17,2,7,0,0,2,8,
8,0,2,9,8,8,1,6,8,8,4,5,8,8

a3 DaTA 1,6,8,0,2,8,0,8,5,0,2,25,2,18,
8,8,5,8,4,27,2,11,0,8

3148 BEM comversation tree

3156 DaTA 1,4,%,2,1,8,3,5,4,4,8,8,5,8,4,
5,2,11,8,0,4,7,0,8,5,0,4,8

3148 DaTA 2,12,8,0,4,8,8,8,1,4,8,8,1,%,1
7,15,1,18,14,13,2,13,0,8

3178 DATA 4,7,8,8,1,18,14,18,1,11,23,17,
2,14,0,0,1,12,33,1%,3,8,3,28

3188 DATA 2,15,8,8,2,14,0,8,1,4,8,8,3,13
0,24,2,17,8,8,2,18,0,8

3199 DaTa 2,19,8,8,2,28,0,8,2,21,8,0,3,0

3, 38,2,22,8,8,2,23,0,8

3280 DATA 2,24,8,0,3,8,2,34,1,6,8,8,2,25
8,8

'.I’-Eiﬂ REN iree number four - falling in |
ove

3220 DATA 1,13,04,2,4,18,8,8,1,14,4,12,1
15,7,9,5,0,4,68,2,26,8,8

3230 DATA 3,8,2,8,5,8,6,18,5,8,2,11,2,27
8,0,2,28,0,8,5,8,4,13

3240 DATA 2,29,8,8,1,16,15,18,3,8,2, 14,2
,38,8,0,5,8,3,28,5,0,4,17

29 DaTA 2,31,0,8,2,32,8,0,1,4,8,8

Z240 REM tree number 5 - actions

3278 DATA 3,07,0,2.4,00,8, 0,1, 7,00, 12,5,
12,8,8,1,5,18,17;1,7,28,27

3288 DATA 1,7,29,38,1,4,8,8,5,8,5,18,2,3
3,8.8,1,4,8,8,3,8,3,13

3298 DATA 2,24,8,8,0,8,0,0,5,8,3,14,2, 35
|'|ElI-l'5:|E!EIE'ril3lE‘:arl51'5IE:li

3398 DaTa 4,13,8,8,1,18,22,23,1,4,8 0,4,
14,8,8,5,8,2,25,2,34,8,8

J309 DaTA 1,4,8,0,5,8,3,28,2,37,0,0,1,¢,
8,8,5,8,3,31,2,38,0,1 @
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